0%
O -

nd
=
10|
=E 7t
= X
°

E 2l
=
=
E 7|A ZHA 'HIE8 2R M

O
H
s,
AHE
k=R e)
=2 7

2R}

| o
2 28l
R

KBSZ}
ME BT

INI=ET
Xt
X}
9|

1o 2 9|2|5l0]

=

=

KBSS

IO-IA

TFECIN 2 /= " 2NN
Er
=
o
5

Prepared for

H3=Al7] HHELICE.

ey
o)

|
=

~
[ = |
www.metrix.co.kr

Melri.



D JER




Knraan Broaaacting Sysbam

£ 3
3
ol
23 H A
.2 o3
{10 0

Kd ol _e.

ol Rl Ho

R’ o I

P 3o of

jol <0

= ol o

i m_n <H 0

2 ot (=

R & e =0

0 - = D

RT S of
ol o Bl
< m w O

i = =

oo = T 3

K 1o < —

Sty < o

o = K | o M

= _ oft of

u_m oK od N m..r_

N 5l I8 X N I Jo

0 — e~

of <k o} S ofl o ol

mn_u A ™ o iof Ru

<7 o jol mh 72|

S o i 2 | s

LA . 0lo ol | S

o oW = 3 ~ 1 n

ol < < ok T ol il ol

B | S z0 1 o of =M
O"_ n o y b =) i’ Kio
U-/" < M < o _n|v_. L ol 1o

B | B RS | BE |
— l H N )
oK
RI . " "

r <0 L H nd 0jo
or ojr = 30 rE N =
. < < < < < <
< Kd Kd Kd Kd Kq Kd
_Al_ i (o] %) <t LN ©
i

3page

MetriX



KBS@

MetriX dpage






O3t Al Xt Hofjol KBSS

Q: HOHGHD A2 At Aolel(ESe)S & S B I dAUAR

B HOfsT Al LIXIHO|QI2 AX|M0| 8.4%E 19 E 7|E3om, Lo R S M(7.1%, 29]), U4 (3Y, 4.3%), HIM =
(3.6%, 4%]). R52(2.9%, 59) 52 =22 ZAHH

C = BH AO
EJII' :g = T'_'TI (n=1,000%, Ct2|: %)
e CEE zolaE Hof el
= 20CH 30CH 40CH 1] =2 7|2 A= HE
12] X4 S X4 X4 A X4 A A
8.4% 7.1% 8.4% 13.1% 8.2% 11.8% 7.8% 9.5%
29 o M E XA o %o o 2% 2Xd
T 7.1% 5.3% 7.4% 6.7% 5.0% 6.0% 4.7% 6.0%
‘ o ASH | MEH IR wY HHE A4H MHE | 9ME
B 4.3% 4.9% 6.4% 4.9% 4.4% 5.8% 4.4% 4.3%
ST jo HME | 833 ®ME | Zs¥ | gss | mW | zEE | g3
(MC 7“:’.““) T 3.6% 4.5% 4.4% 4.0% 3.4% 4.0% 3.9% 4.3%
e s ®ST | REE  ZEW | mey | 2EW | WY | UM Y
T 2.9% 4.1% 3.7% 3.4% 3.4% 3.8% 3.4% 4.3%
6o HY | ol=d | meM | 0la7 I wME | 883 | FE
T 2.9% 4.1% 3.2% 2.7% 2.8% 2.8% 3.1% 3.4%
e 258 | 34 sy KsE oY ozy | o=y | 0]z
2.8% 3.0% 2.7% 2.7% 2.8% 2.8% 3.1% 2.6%
goy B | ATY | oz | Ras | wEA | xsE wEy ww
2.6% 2.6% 2.7% 2.4% 2.6% 2.6% 2.8% 2.6%
99| 0|57 0|57| rE2 =olg REE 752 R=E 537I
T 2.5% 2.6% 2.2% 2.4% 2.6% 2.4% 2.3% 2.6%
102] e R 0|57 X|zl=s 0|57 g3 0|57 Xs#
(n=1,000%, Tt2|: %) X O|0|K|EX: o|H =2 2.1% 2.6% 2.2% 2.4% 2.2% 2.2% 2.1% 2.6%

MetriX opage



AHofist A= =X Ao £F KBS®

2 X4 (8.4%) ST M (7.1%) 21234 (4.3%)

7|7t ALCt 22.6% Hi 24 A 0] Q0| A 32.4% ZHAZACE 20.9%

Z 0§71 £0IM 16.7% SHZZ0| LA 28.2% Hi 2 A 0] Q0| A 18.6%

A AL 15.5% HASH 2O A 19.7% 7|7t Act 11.6%

Hi 24 A 0] UM 15.5% V ESESRON-=- "N PN| 16.9% 0lo] A0 HOJNM 9.3%

AEFYL 2| 8H A 8.3% 0|2 A HONM 12.7% KHasl 20 AN 9.3%

S25t AELY 8.3% HMOIZE A0 HO A 8.5% A 20N 7.0%

7t2| 2017 Ue AEHY 8.3% A7 22| 7F B M 24 20t 7.0% 22|71 L} 7.0%

Rratol 20 M 7.1% A 2O M 7.0% s3 0 EOojA 4.7%

HA HAM 7.1% 22 2 S0E A ZOotM 7.0% A 2 M 47%

FHZZ0| A0M 6.0% 3 U0 2o 5.6% ‘d40| Z0F 2o M 4.7%

7|7t ALt 25.0% ZHH ATt 11.1% At 17.2% A5l 2O A 10.3%

K&t 20| A 22.2% 22|71 &L} 11.1% K= B50| £E0M 13.8% A5 20jN 10.3%
7page




O

=5t Al Uix}

2

2
1o
I

Q: ZE5ln Ae EX Aollol(eseS & o
— o

AtH =0} "o”%*l.MﬂE)’

] 7:!%-‘- 71 AlS Lt
jzooh_on" nifﬁfﬂl?_'% FXAM0| 16.7%2 19| & 7|F}2H, L1222 A5 (4.29

Cixl E
EBur s4E 29
(n:]‘/OOO%‘: £l %
o R Soiae e
- 20cH 30CH 40cy IZI|§._ = — & Off 2HEN
19| QI M S A LA ST o 31 A °7I§ NE! 3=
16.7% 16.5% 19.2% 13.7% B #HH XA STYA
jop KEE L olEd 2R o 17.7% 15.7% 15.5% 25.0%
T o A4 AXH VIEE A =2
4.2% o = xl‘—-r 0" 2l L} A O
o xHi A 4.9% 4.7% 5.8% S S= = d xsd
P 39 XM REAA &S B B% 5.4% 4.4% 5.2%
(MC 7“1““) T 4.19 — =] II‘EL ixl*-| *I|M A~ .£7/0
1 —_ 1% 4.1% 4.4% 5.2% OH == = _._Ilﬂ ﬁ
a9 RHEA M ZIAS e 3.2% 5.0% 3.6% 4.3%
A se | AmE | HsE | AEs o | 4%
o 3.8% 3.4% 5.2% o fe o MEE | Z2SdE
xtag | s ¥ A e T T e e
& o | & b
M 001 16.7% e Z-Z % 3.0% 2.7% 3.7% 300 '='"'°?—* Asd XIERS
( H'I‘n EE_-!'_I) —'—xlﬂ 6% o s S| FIES .A=I ° 4.0% 2.3% 2.6%
e (=} el e
(HH ) 2.6% 2.6% 2.7% 3.4% 2 29 HE A= CRaC
79 EFE 087 Moy HAZ 24% 3.4% 2.3% 2.6%
38 e O R - R R
T/ Mo M JtEC : _c_’_ 2.4% 2.2% 2.8% 1.89 ©
. 82| ST S c&H Xpef & S{H| ZHE 9] = -8% 2.6%
4.1% 2.0% 2.6% o == cod sidl O M oA =
S H| u E 2.2% 2.1% 2.2% 2.6% T e TS
99| = b A ESK oM Hou e 1.8% 2.6%
2.0% 2.6% 2.2% i TS x=+F zZs9 x| xS
(n=1,000%, CF|: %) 109] U HiA = I| A: Jj-;/;{ 2:0% 2.4% 1.8% 2 Ig";-
el - X . T = = .07
S O X 0[0|X| S H: Yloj] Z2H 1.9% 2.3% 1.7% iy X8 B+4d x| VT
7% 1.8% 0.6% 2.0% 1.6% =5
6% 1.7%

MetriX
8page



220t A2 g% Ao £F KBS©

@
O
Y
rion
[e]
K
e
o
oc
=
e
=
ro
(T
Ok
ro
mjo
o
02
o
I3
>
2
ir
N
0=
1
C
>
N

ST M (16.7%) Xt 21(4.2%) AX|M(4.1%)

MEMoz HolM 28.1% HEMoz HolN 45.2% 7|7t 2t ek

HY 24 A10] QL0f A 22.8% 22|12 MM 35.7% B 2441 0] QL0fAf 17.1%

MAISH 2 0]M 222% B 2441 0] QU0fAf 14.3% KEALSY 0 A 14.6%

FHAZO A0 15.0% EHAZACEH 11.9% AN 20| ZOtA 14.6%

Z K| 20| ZOpA 13.2% MAls 20| A 9.5% XM ZACH 12.2%

QIA0| HEEH 20| 10.8% S8 A0l 2O0jA 9.5% S xSt AEHY 12.2%

o2l A0 2 0fA 10.2% FHLZO] ANM 7.1% MAs 20 9.8%

Xp7|2e| 7 Mg A Z0otM 9.6% Kpabsfl =20 Af 71% Xp7| 227} s 2 ZHOobA 9.8%

Atddl 2oiM 7.8% 7t2| 200t Qe AEHY 7.1% =07+ Z0tA 9.8%

S8 A0 20N 7.8% BH 20| SO0t 4.8% Q10| HFEH| 2 0] 7.3%

HEH2 2 BN 65.6% FHLZOl Ao M 15.6% HYEOoR HOM 22.2% RpAFSH & 0f A 14.8%

ool B Bl R olE 2 2ot 1ss% | D AIEEREABEIA 40 EPCIPIE =t 185% Sx[3H AEHY 111%
9page




g8s B 7K E

=)

<Q HAHS E M OHE, JIE S0 M2As6t=E JIXle 2ACIIIR? (122 ~32a MK

i

B HES B 7HXEe 1x9= G4E0| 264%E 19| 7|Fe. S22 E HRLIAOIM 53(19.8%, 2%7]), BH=(9.6%, 3%)
MAZH(8.2%, 49]), 2 U(6.3%, 5¢) 52 =2 = ZAHE.

B HEdS B 7HXe| 1+2+3%9] ot GAHR0| 53.8%2 1915 7| BoIA2H, 29| BH=H(35.8%), 3¢ HRLIAIOIE 5
(33.2%), 49| MAZH(33.0%), 59 EAH(22.1%) S| =22 ZTAHE.

FSS B 7H

(n=1,000%, 2SE, £+ %)
E19] 0 1+2+4329]
53.8
33.2 35.8 33.0
264
19.8 221 .
16.2 .
) 14.3 14.5
96/ 82 43 10.5 8 121 46
. 4.8 3. 3.2 3. 2 3.7 4.6 21 3.0
£ ﬂ A28 30 oad o4 032 19
Aot FLU Yy ™MAdZd Y gy o= M A 7= CHel O AEMY XY 7| EE] 2 7|t
Aold A A *E |

=g
o -

MetriX 10page



<Q et oE o

A= M O SZ0| MIHIR? 1&~2=ANKX %};)

B S 7l YRt #E 12 B MAFI|(0f)7t 38.9%2 12| &
E §(13.6%, 3%), HEte|F7](9.2%, 49), £&7((6.1%,
B SZ 7t UXto| #Eo| 1+259| =3 Cisiot H

2) So & 2.
AT} 58.6%2 1918 JISsHon, 29| LS 22
(38.1%), 39| AH U 27 (34.9%), 42| X|0| MCIEIF7](16.2%), 59 H*Hsl|F7](13.2%
BB 7te Jxiel 9E

2| &
Eo| £0=2 XA}E.

So2E AN U TZ(18.8%, 29), LIE BEs

(n=1,0009, SS&, THel: %)
mlee 14229
58.6
38.9
34.9 38.1
18.8
13.6 13.2 - 16.2
- 6lp | 44y 42 6.5 5.7
Ed : i 1244 135 0908 g0 04
=y Rl ] LtE A% &7 H2| X| 2ol ui S| o ol A way -
o &8 = e 2act Xct TN Lj X}t 287
(0§ ) =0 S22 HZ=7| o]
MelriX

Ilpage



(129~2a

LMK SE) >

<Q O RS9 AZINS IIE EO0IoHAIR? (1

8 Z0ist=s 271 /9 1=%l= £30] 25.7%E 19S5
(16.9%, 3%1), M| 2CH57](9.0%, 4%), &N 7|(7.7%, 5%]) 52 =22 =AHE.
B Zoloh= 2714 R 1+2&9| Kl Z30| 434%E 1215 7|50, 2

?l M| 20H57[(18.3%), 5% EE7|7](18.0%) S2| =22 =AHE

7188 CH2e 2 & ZX| THM £%7((18.1%,

KBS@

Knraan Broaaacting Sysbam

#). FollM etotz7|

Tl x| THM £%7133.3%), 39| Flof|A 2F0}F7](30.0%),

(n=1,000%, 5+8 &, 2 %)
=19 14289
43.4
33.3
30.0
25.7
18.1 16.9 18.3 18.0 . . .
9.0 7.7 6.2 ‘ 7.6 ' 7.1
I I N
=g WX THA Z[of| A o 2| o CLL] o o] e iz 7| A 7|t
EXS¥ ] MLIET| 77| 7|7 akx| 7| 7|
MetriX 12page



Ao
Fer LI C

3

nd



